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19 февраля
Классная работа 

 

Прием вычитания вида: 52-24



I вариант                II вариант
8+7-6=                      50-24=
4+9-7=                      42-18= 
75-(37-7)=                75-(37-7)=
– Вставьте + или-, чтобы ответы 
были правильными.
35…30…6=11
20…3…3=20
2…1…7…3=5



I вариант                II вариант
№1                            №1
8+7-6= 9                    50-24=26
4+9-7= 6                    42-18= 24
75-(37-7)=45              75-(37-7)=45
№2. Вставьте + или-, чтобы ответы были 
правильными.
35-30+6=11
20-3+3=20
2-1+7-3=5


